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226100
. B(g)+C(g) ,AH=+85.1k] + mol",
1.0 L 0. 10 mol (t) (p
Alg), (A (g)=— 1.
1 (1) (»)
t/h 0 1 2 8 16 20 25 30
p/100 kPa 4.91 5.58 6.32 8. 54 9.50 9.52 9.53 9.53
p pos 48 .
K. . 48 .
2. 100%, .
(1 2.
2014 . 2014
2
K=1.5 K=73.6
19 9 13 7 48
/% 39.58 18.75 27.08 14.58 100
. “K=173.6" 0.10 0.10 0.10
, , mol/L 5 9% Xxoa1%  X94.1%
. c(C)=1¢(B)=0.1X94. 1% =
(D“K=1.5" 0. 0941 mol/L.c(A)=0.1X5.9%=0. 0059 mol/L,
K K — B = (O (0.10X94.1%)"
_ c(A) 0.10X(5.9%)
’ ’ ’ =1.5
0.10 mol, A v (3K=73.6"
A(g) == B(g) + C(» ,
mol/L 0. 10 0 0 R
mol/L. —0. 10a +0. 10« +0. 10a \ 5 .
mol/L 0. 10 X (1—¢) 0. 10a 0. 10a aA(g) +bB(g) ==dD (g) + ¢E(g), K, =
’ p(D)* « p(E)* K
, , p(A s p(BY"’ v
0.10 _4.91 K, K.
’ 70.10X(1—a)+0.10a+0.10a  9.53" K, K,
a=94.1%, ) , P(A) =c
Alg=—B(g) + (g (ART, p(B)=c(B)RT, p(D)=c(D)RT, p(E)
mol/L  0.10 0 0 4., .
—0.10  +0.10 +0.10 =c(E)RT, K/’:% - K=
mol/L 04 195 x001%  X94.1%
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(D) » ' (E) Ao — (it 7 ~ p(D)! . (E)°
c“(A) » (B CRTD ’ K, = K K"_P(A)“ «c(B)"”°
(RD)*, An s @ ( )
(d+e)—(atb), , , U.H,
1 ’ p() F\G
4.91X100kPa, p 9. 53 X100 s
kPao A e )
: T (273. 15K) p (1. 01325
A(g)=—=B(g) + C(® 100kPa)
Do 0 0
—x +x + s K°, .
po—x Fx +ax , .
pO*erIﬁLx:p R .
2= p—p,=9.53—4.91=4. 62 i
K=—% .:%622;:73.6, K (e ,
by : 1mol/L), ,
K,, K,=K.RT,
(3)
(2014 } p( 1. 01325 100kPa) , .
° aA(g) +bB(aq) dD(g) +eE(aq)
“K=1.5", ’
KU:[;D“(D)/]D"] e [ (E)/c]
K.. K,. [p A/ p' ] ["(B)/]°
. “K=173.6" ®K..K, K’
(4) K/)’ “ ”
K., (
) K’ .
° ( )
@ ( ) K’, K, .K..K!
K() b . ’
(K, K,), ) )
H N 4ﬁKq’5 , R
( ) )
’ K K! y
. ) KO’
K}l ° KU
aA(g) +bB(aq) dD(g) +eE(aq)
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